Matrix inversion

Givern a patrix
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We write : Rl Ba &y a0 B ]

where a, b, o, .. n are the first, second, third, .. n th
columns of A. Then
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are perpendicular to all the columns of which it is not a mexn-
ter. Then
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g ol a.g & isa unitary vector and in like mannar for the

other wectors. Thus the matrix with rows :
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is the inverse of matrix A. We do an example:

A = 2 3 L 4
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b ome B -3 % 3

& = 1. -3 3 8

i = 4 3 1 -2

g = 0 0 1 1
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aig ® m By Bug ? = B g = 45 dugd = 42 then
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By actual multinlication one gets:
g2 0 0 0
-3 [ © 1 o 0 il

A. A = - & T A
{0 0 1 0
{ o 0 0 1

Usually the inverse is writven with a2 common denominator, the
determinant of tke matrix, but this is not necessary.The de-
tarminant of the matrix above is EB4. To put curs into the us-
tal shape cne ecould multiply by 84/84.

We peint cut again that the amount of work in computiag

&y g'b. g, .... £ diminishes a2s one goes till

the last one g_n only regquires back substitution for itz ¢
romputation. This is a great saving of lahar. Ohserve it.



